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Please check that this question paper contains 12 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 30 questions.

Please write down the serial number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

(1) All questions in both sections are compulsory.

(2) Marks for questions are indicated against each question.

(3) Question No. 1-5 and 16-20 are very short answer questions carrying 1 mark each.
They are required to be answered in one sentence.

(4) Question No. 6-8 and 21-23 are short answer questions carrying 3 marks each.
Answers to them should not normally exceed 60 words each.

(5) Question No. 9-11 and 24-26 are also short answer questions carrying 4 marks
each. Answers to them should not normally exceed 70 words each.

(6) Question No. 12-15 and 27-30 are long answer questions carrying 6 marks each.
Answers to them should not normally exceed 100 words each.

(7) Answers should be brief and to the point and the above word limit be adhered to as
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SECTION - A
1. ‘5o FB IS foshdl T R & :
(Wt ferped g0
(a) oI ST
(b) TN AT
(c) FeUTHER
(d) SWIFT H I hE Tal 1

‘A few big sellers’ is a characteristics of : (choose the correct alternative)
(a) Perfect competition

(b) Monopolistic competition

(c) Olgopoly

(d) None of the above

2. U HY o G GEITT (3TH) 36 IR H Y R &t & @ (Tl f9eeT 9in)

(a) o7 ST

(b) TSI HfcTTar

(c) THIHR

(d) STRIeRT T 1

Marginal revenue of a firm is constant throughout under : (choose the correct
alternative)

(a) Perfect competition

(b) Monopolistic competition
(c) Olgopoly

(d) All the above

3. U 3CURH A0 Yo H AU Y& A & SR 39 A & R FIRX AT & | SidAred

AN hl UgaT hifeT | 1

A producer starts the business in the building owned by him and borrows money for
running it. Identify implicit cost.
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4. UH HH UH T DI AU AET A HIHT HH Hh & 99 Thal & | YD G G
(3TTH) -
(@t ferepe i)
(a) 3iIEa Fuia (3T 9 e gt
(b)  3irEd FEATE (3T & HH &l
(c) T T (W) & TAM &t
(d) = Em
A firm is able to sell more quantity of a good only by lowering the price. The firm’s
marginal revenue, as he goes on selling, would be :
(choose the correct alternative)
(a) Greater than average revenue
(b) Less than average revenue

(c) Equal to average revenue

(d) Zero

5. ohiHd FUReE B 9 o4 S § 2

What is price-maker firm ?

6. X 3R Y T3 Sl HIHT AT A HELT: I 3 (—) 1§ 1 399 9 et Hi 31fye eAregr
T 3R T 2
Price elasticity of demand for the two goods X and Y are zero and (—) 1 respectively.
Which of the two is more elastic and why ?

7. gACH HEC RO S 37 Y 39 TR0 THEET |
YT
T %] I AT H Gy’ o HROT S aTel TETE i §Eel TRy |
Explain the meaning of ‘minimum’ price ceiling and its implications.
OR
Explain the chain of effects of ‘increase’ in demand of a good.
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8. U IUWIEK el &I a&qe X 3T Y 61 SUHN Har & | WHid Wi ¢ 3 § Sefn
X 3R Y & Ui ThIE HiEd HASE T 4 3T T 2 & | FAT STHIHT Gqo H & 2 ST 3
TITCIshAT T BRTT 2 SHROT QMY | 3
A consumer consumes only two goods X and Y. Marginal rate of substitution is 3

and per unit prices of X and Y are ¥ 4 and ¥ 2 respectively. Is the consumer in
equilibrium ? What will be the further reaction of the consumer ? Give reasons.

9. T SR ot [ YR ol & STHH harel Ueh ST bl Jig ol STl & STalteh 37 ST i
TR 7@ ST € | U9 SAe %eid | $el 318 1 S8R TSy |

AT

AN Y AR ST | S-S 3eas | gy &l Sl & (a) FoT FeX ArTa 3R (b) FoT
ARl AT T HFER Ty | 4

What type of production function is this in which only one input is increased and

others kept constant ? State the behaviour of total product in this production function.
OR

Define cost. State the behaviour of (a) Total Fixed Cost and (b) Total Variable Cost as

output is increased.

10. TH 3REH T 20 Ui THE W & B 100 IHAT Dl Gid AT & | T B HET I A 2
T | ThT Hd W ag 50 THE B YA HAM ? TRbe DT | 4

A producer supplies 100 units of a good at a price of T 20 per unit. Price elasticity of
supply is 2. At what price will he supply 50 units ? Calculate.

11. 90 6l gfearen ST | ST | O U9 STt ool Shileh Sd1ey | 4

Define demand. State the factors affecting market demand.

12. U ST halet &1 aqall X 3T Y o1 ST el & | Wi ST foeeivor s e
T YR et i 9Tt TR | 6

A consumer consumes only two goods X and Y. Explain the conditions of consumer’s
equilibrium using Marginal Utility Analysis.
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13. Tt o aiom Swes
(a) USRI Hiaaiim 3 e faug
(b) o7 et H o7 S
YT
e & IROTH THEeT -
(a) STCUYHR | HAT o g IR AT
(b) YOI SicEiTer # fershanat t agt He
Explain the implications of the following :
(a) Product differentiation in monopolistic competition.
(b) Perfect knowledge in perfect competition.
OR
Explain the implications of the following :
(a) Interdependence between firms in oligopoly.
(b) Large number of sellers in perfect competition.

14. 3@ QYR W MR, foF i off Sems Tre Tt sRqat o SeIR H U Sign BRIt Tél
BT, AT FRATaT TTfeTeh! i TETa 9“7 AT 3 “ORae sl Wi 3¢ STEERomd
HHEARY |
Explain the concepts of Opportunity Cost and Marginal Rate of Transformation using
a production possibility schedule based on the assumption that no resource is equally

efficient in production of all goods.

15. “gfd ook | Ta@eher iR “gfd o & AI-91 goi” | 3R THeET | Ui & oy SR
Teh e Id13T | TG Sl T Shifed |

Explain the difference between “Shift of Supply Curve” and “Movement along Supply
Curve”. State one factor responsible for each. Use diagrams.

gfeanfim wanfoat & fow .
A T Tk 9] & el 1 {ashal & | 39 HIaT o YR U SAfeRish STYfd et
SIS YfcT ATt AT e <l UTshaT THEMEY | Ueh WA ST AT |

For blind candidates :

Explain the derivation of market supply schedule from individual’s supply schedules
assuming that there are only two sellers. Take a numerical example.
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gug - d
SECTION - B

16. TR FN fafawr &1 379 & ; (el fashed i)

(a)
(b)
(©
(d)

3T ST ST o IR qo T
319 o SaT
IS HAT 1

Disinvestment by government means : (choose the correct alternative)

(a)
(b)
()
(d)

Selling of its fixed capital assets

Selling of shares of public enterprises held by it.
Selling of its buildings

All the above

17. 1A Wt =T ; (Wl forhen giu)

(a)
(b)
(©
(d)

TTe] I T T dTe] oIl Wi U 3TIferey

UST @ ST 3T ST ol Wi ux 3fiferery

A A T & Ui I S

TS &q T 1 GRS & Wi 0T ey 1

Balance of Payments ‘deficit’ is the excess of : (choose the correct alternative)

(a)
(b)
(©)
(d)

18. ohed TEIT =l IR ST |

Current account payments over current account receipts.
Capital account payments over capital account receipts.
Autonomous payments over autonomous receipts.

Accommodating payments over a accommodating receipts.

Define Gross Investment.
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19. SERA H 3Tl YSITa aRgeraar & W H e aTel STIeIieTd STeei i I8 Fed ¢

(el ferehed 9f0)
(a) T USIr ST STRT

(b) STt &t

(c) e

(d) I H ¥ HE T

Unforseen obsolescence of fixed capital assets during production is :
(choose the correct alternative)

(a) Consumption of fixed capital

(b) Capital loss

(¢) Income loss

(d) None of the above

20. US4 S € 2

What is capital expenditure ?

21. U HEATHS SRV Y 3G SUIHT Mg 3R i SURT Mg & e 9 i |

YT

HETET 3TTE AT 3T A H AIHRI 59 T UhR FeTdeh &l Tohell € |

Distinguish between Average Propensity to Consume and Marginal Propensity to
Consume using a numerical example.

OR

Explain how can government spending be helpful in removing deficient demand.
58/2/3 8



22. U AT UAeH H & | W STHT 4 I DI :

TR A = 1600
GENE=R = 300
i ST Tt = 0.8 3
An economy is in equilibrium. Find autonomous consumption expenditure :
National Income = 1600
Investment Expenditure = 300
Marginal Propensity to Consume = 0.8
23. afE Hifge @ T 600 & A HiHd GEehish 100 8, o aRiae 1 & GRebe His | 3

If nominal income is ¥ 600 and price index is 100, find real income.

24. T FH OGN DI THE HE GHART | IE-[AHHIT T Io Haud FEEn H FEaR 39
FHROT KA T AT § 2

reran
ST T SN PTIAF HF TR | ag-famg § 3cq=1 Gared o S HaroT s9&
FHROT KA T AT § 2 4

Explain the ‘Unit of Account’ function of money. How has it solved the related

problem created by barter ?
OR

Explain the ‘Standard of deffered payment’ function of money. How has it solved the

related problem created by barter ?

25. HSIT S 1 “Shl T A 1T THAET | 4

Explain ‘Bankers Bank’ function of central bank.
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26. WER T eh HEHT W T HAl ¢ | THh Ghol W] SR SR Hod0T T I

HHART |

Government spends on child immunization programme. Analyse its impact on Gross

Domestic Product and welfare of the people.

27. YR Feve foee 9 SR oid € | Fefafaa geei % 3 ST

(a) I T ol § 59 SU-oiam | 37 [ U8 § 39 YR ol 557 ST 2 HROT IS |
(b) TaF9T 3T W g dTel 39 SUR % U9TE & SRAT HieTT |
Indian investors borrow from abroad. Answer the following :

(a) In which sub-account and on which side of the Balance of Payments Account

will this borrowing be recorded ? Give reason.

(b) Explain what is the impact of this borrowing on exchange rate.

28.  TroTed Wit | R AT ¥ 2 Seiegeen § ferdr 7 °§ §hR] 991 o AEH HHEET |

YT

THR S F 97 AT & 2 e § GHEAT o ST Sl YHiferd i § GIhR] 991
Y AT AT |

What are revenue receipts ? Explain the role of government budget in bringing

stability in the economy.
OR

What is government budget ? Explain the role of government budget in influencing

allocation of resources in the economy.
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29. UL 3 AR Igioaeh Maeg 3T AT i ;

@
(ii)
(iii)
(iv)
)
(vi)

(vii)

AR o

A T TS 3T
faett =t feret =] g&aieRoT
37T U ST ST
T T

3T T

HIHR GRT 6] AT

(viii) TTEIeh T

(ix)
(x)

=it o
ERIESEaCTE

@S )
70
1,000
20
100
200
250
50
60
800
150

Find National Income and Personal Disposable Income :

@
(ii)
(iii)
(iv)
)
(vi)

(vii)

Undistributed profits

Gross National Disposable Income
Net current transfers to abroad
Consumption of fixed capital
Corporation tax

Indirect tax

Current transfers from government

(viii) Subsidies

(ix)
(x)

58/2/3

Private income

Personal tax

11

(X crore)

70
1,000
20

100
200
250
50

60

800

150

4,2
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30. T 3 G I e B Dl &1 Shied I U HITT | Tl o1 U & J@iras o
femmw |

Derive the two alternative conditions of expressing national income equilibrium. Show

these equilibrium conditions on a single diagram.

gfeanfim wianfoat & fow .
UL 3T G I KT HIA Dl 31 Aehiedsh I THAET | ST TIae o § = &f af
THh HROT & aTeT TTe HHERT |

For the blind candidates :

Derive the two alternative conditions of expressing national income equilibrium.

Explain the effects when economy is not in equilibrium.
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